Answer Key ¢ Lesson 11: Midyear Test Review

Student Guide 12. A. Pull-ups in Gym
Midyear Test Review (p. 243)
Questions 1-3*. See the lesson.
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Questions 1-17 €| 4]
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Part 1 2
1
Strategies may vary. o
. 88 days; 139 =51 = 88 ° 1 Numzber of3Pull—u:s ) )
2. $2,015; 1166 + 849 = 2015
3. 9015 B. 4 students
4. 2532 C.3 pull-ups
5. 304 D. None or 0 pull-ups
6. Possible strategy: 2500 + 6500 = 9000 13. A. Approx. 10-12 sq cm; students may number
7 the squares to show how the square cm were
’ +%gg§ counted.
3000 B. Possible solution:
1200
110
+ 11
4321

8. Possible strategy: From 198 count up 2 to 200,
200 from 500 is 300; 300 + 2 + 2 = 304.

Part 2 4. A. 252
9. A. B. Troy’s answer is correct. Student
explanations will vary.
C. 153
B. 2:15 < ——+>
56 163 156
10. 6 X 4 = 24; stories and pictures will vary.
1. 1182 pounds, 1280 pounds, 1936 pounds 15. A. 20;
T o 5 10 15 20

B.4X5=20o0r
5454+5+5=20

*Answers and/or discussion are included in the lesson.
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16. A. Coast of Candy Boxes
Number of Boxes Cost in Dollars

1 $2.50
2 $5.00
3 $7.50
4 $10.00
5 $12.50
6 $15.00
’ $17.50
8 $20.00
9 $22.50
10 $25.00

B. $10.00

C. $17.50

D. Possible response: I used the pattern in the
table. Each box of candy is $2.50. Since
6 boxes cost $15.00, 7 boxes will be
$15.00 + $2.50 = $17.50.

E. $50.00; Possible response. I looked at the
table and saw that 10 boxes of candy will
cost $25.00. Since 20 is the double of 10, I
know that the cost for 20 boxes will be
double the cost for 10 boxes. $50.00 is
double $25.00.

17. A. 300+ 190 + 15 =505

No;(JUO U UL eeeee
C. 500 +5 =505

ve)
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